VR2400
2400 psi @ 2.2 gpm

Part Number Description

Pump Information: ~ |D28703....ccceeeennceeee. DeVilbiss Pump Kit, Radial
iresersserssaesens Thermal Relief Valve
....................... AR North America Pump

Engine Information: 12H812232DIAT096.....ccoveeverererrrerenne Engine, B&S
16255 Oil, Engine (2002)

Frame Information: D22908 Frame
D22268....eererrrerrrriirnns Recessed Rubber Isolator
D27952 Handle Assy
D28123 Tire, 8”
D22303 Engine Base
D21630 Pump Shroud
D22206 Axle
D22305 .. Wheel Bracket (qty 2)
D28714 Accessory Panel

Hardware Information:

Wheel Bracket to Base:  D22650.........omwceermreceerennnne Screw, 1/4-20 x 1" (4)
Wheel to Axle:
W137 Pal Nut (2)
Foot: D22650 ...cevircvricirerinnns Screw, 1/4-20 x 1"(1)
Engine to Frame: D27956 ...cveirisirnnne Screw, 3/8-16 x 1-1/4" (3)
Engine to Pump: D27152 Screw, 5/16-24 (4)
Engine Base to Frame: D22308 ......cooeevirrrcrirrnenee Screw, 5/16-18 x 2 (4)
D22692 Nut, 5/16-18 (4)
Handle to Frame:
+ 16471 Knob (2)
+ D23196 Saddle Bolts (2)
Accessory Panel
to Handle: v/ D2290T s Screw, 1/4-20 x 1.125 (4)
Accessory Information: ~ D2809%4........ccoormmeeeeees Hi Pressure Hose, 1/4" x 25ft
D22837 Wand/Mult-Reg
D27858..crerreerireeissrinens Trigger Gun, 22 mm
* H140 Chemical Hose
(D25 Y/ Assembly Parts Bag
+ NCT001 Cleaning Tool
+ 16797 Allen Wrench
Manual Information: + D28713 ........... Manual, Operators-English/Spanish
v 15985 Manual, Engine

+ Included in Bagged Parts
v/ Included in Handle Assembly

* Included in Pump Kit


http://www.allpartsinc.com/mmAllParts/Others/d28703-IPD.pdf
andrew.carlson
Highlight

http://www.allpartsinc.com/mmAllParts/Others/RMW3400-IPD.PDF
andrew.carlson
Highlight


